Boil Factor

Carbon HMS Boil Factor vs Run Number

1.100
----- E€po: 0.993+0.007
¢ 10p6cll, P =-3.266
M 10p6cl2, P = -4.204
1.075 A A 10p6ci3, P =-6.269
8p2cll, P = -5.745
1.050 -
1.025 -
1.000 -
L
0.975 A
0.950 A
0.925 A
0.900

5500 6000 6500 7000 7500 8000
Run Number



Boil Factor

Carbon HMS Boil Factor vs Current
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Rel. Yield

Carbon HMS Rel. Yield vs Current
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Rel. Yield

Carbon HMS Rel. Yield vs Current
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Rel. Yield

1.100

Rel. Yield vs Predicted
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Residuals

Residuals vs Predicted
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Carbon HMS Yield vs Current
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Momentum

Carbon HMS Momentum vs Current
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